
 M
ax

 5
,2

m
 

 M
in

 0
,7

m
 

 T
yp

ic
al

 0
,8

 - 
1,

2m
 

3

1

6

7

2

A

A

4
5

8

9

11

5

10

13

12

B

Lightning protector kit
Fits frame leg 25-35mm
Box beams 50x50x5mm are to be used 

An angle of 45 degrees are to be strived for 
on the supporting struts

If the height above mast top is less than 4m 
the supporting struts is not needed and the 
76mm tube need to be shortened in the 
bottom

ITEM NO. QTY. Description Article No.

1 2 Mast knot kit for box beams 36650
2 2 Clamp C-C92mm FZV 3396

3 2 U-bolt M12 C-C 92mm, Nuts and 
washers 2801-1

4 4 Bolt M6S M12x40H 8.8 FZV 9465

5 18 Nut M12 8.8 FZV ISO 9293

6 2 Clamp C-C62-76mm t=4mm FZV 2410

7 2 Bag with U-bolt M12 CC-62 A4 Nut & 
washer 3380-1

8 1 Tube with top joint D=76,1mm; L=4m 91071

9 1 Tube 48,3x3,25 L = 2000 mm gt483325-20

10 1 Screw M6S M12x90H 8.8 FZV 9770

11 4 Bolt M6S M12x50 8.8 FZV 9712

12 2 Square section Mount kit 60x60mm C-C 
76-130mm 40904

13 1 Telescopict strut support short 232815

REVISIONS

ZONE REV. DESCRIPTION DATE APPROVED

A Changed from clamp to clamp solution to clam/U-bolt 
solution 2013-08-08 JW

B Changed type of lighning rod 2013-11-19 JW

JWJW

Lightning protecor kit
1:20

2013-05-15

B454
1

H

G

F

E

2 3 4 5

D

C

B

A

1 2 3 4 5

ScaleCopied

6

Design by Drawn by

7 8

StandardChecked Affirmed

9 10

Replace

Drawing no.

File Date

Replaced by

H

G

F

E

6 7 8

D

C

B

9 10

A
SH

AR
P 

ED
G

ES
 B

RE
AK

ES
IS

O
 2

76
8-

C
TO

LE
RA

NC
E

PO
SE

S.
 A

NY
 IN

FR
IN

G
EM

EN
T 

O
F 

TH
ES

E 
CO

ND
IT

IO
NS

 W
IL

L 
LE

AD

TH
IS

 D
RA

W
IN

G
 A

ND
 A

LL
 O

PP
UR

TE
NA

NT
 M

AT
TE

R 
SH

AL
L 

RE
M

AI
N

W
IT

HO
UT

 O
UR

 W
RI

TT
EN

 P
ER

M
IS

SI
O

N,
 E

IT
HE

R 
IN

 T
HE

IR
 O

RI
G

I-
NA

L 
ST

AT
E 

O
R 

W
IT

H 
AN

Y 
CH

AN
G

ES
 B

E 
CO

PI
ED

 O
R 

M
AN

IF
O

LD
ED

,
SH

O
W

N 
TO

 O
R 

IN
 A

NY
 O

TH
ER

 W
AY

 C
O

M
M

UN
IC

AT
ED

 T
O

 O
R 

HA
ND

ED
O

VE
R 

TO
 A

NY
 T

HI
RD

 P
AR

T,
 N

O
R 

US
ED

 F
O

R 
M

AN
UF

AC
TU

RI
NG

 P
UR

-

TH
E 

CO
M

PA
NY

 M
AF

I A
B`

s 
PR

O
PE

RT
Y.

 T
HE

Y 
SH

AL
L 

NO
T

TO
 T

HE
 IN

ST
IT

UT
IO

N 
O

F 
LE

G
AL

 P
RO

CE
ED

IN
G

S.

Addr: Örjasvägen 4, Box 275, SE 792 24 MORA, SWEDEN
Phone: + 46 250-381 60    E-Mail:  monopod@mafi.se
Fax:     + 46 250-381 84   Internet: www.mafi.se

MAFI 454

- -



B

C

A

E

B  (1 : 2)

C  (1 : 2)

A  (1 : 3)

E (1 : 3)

Lightening protector kit

JWJW

Lightning protecor kit
1:20

2013-05-15

B454
1

H

G

F

E

2 3 4 5

D

C

B

A

1 2 3 4 5

ScaleCopied

6

Design by Drawn by

7 8

StandardChecked Affirmed

9 10

Replace

Drawing no.

File Date

Replaced by

H

G

F

E

6 7 8

D

C

B

9 10

A
SH

AR
P 

ED
G

ES
 B

RE
AK

ES
IS

O
 2

76
8-

C
TO

LE
RA

NC
E

PO
SE

S.
 A

NY
 IN

FR
IN

G
EM

EN
T 

O
F 

TH
ES

E 
CO

ND
IT

IO
NS

 W
IL

L 
LE

AD

TH
IS

 D
RA

W
IN

G
 A

ND
 A

LL
 O

PP
UR

TE
NA

NT
 M

AT
TE

R 
SH

AL
L 

RE
M

AI
N

W
IT

HO
UT

 O
UR

 W
RI

TT
EN

 P
ER

M
IS

SI
O

N,
 E

IT
HE

R 
IN

 T
HE

IR
 O

RI
G

I-
NA

L 
ST

AT
E 

O
R 

W
IT

H 
AN

Y 
CH

AN
G

ES
 B

E 
CO

PI
ED

 O
R 

M
AN

IF
O

LD
ED

,
SH

O
W

N 
TO

 O
R 

IN
 A

NY
 O

TH
ER

 W
AY

 C
O

M
M

UN
IC

AT
ED

 T
O

 O
R 

HA
ND

ED
O

VE
R 

TO
 A

NY
 T

HI
RD

 P
AR

T,
 N

O
R 

US
ED

 F
O

R 
M

AN
UF

AC
TU

RI
NG

 P
UR

-

TH
E 

CO
M

PA
NY

 M
AF

I A
B`

s 
PR

O
PE

RT
Y.

 T
HE

Y 
SH

AL
L 

NO
T

TO
 T

HE
 IN

ST
IT

UT
IO

N 
O

F 
LE

G
AL

 P
RO

CE
ED

IN
G

S.

Addr: Örjasvägen 4, Box 275, SE 792 24 MORA, SWEDEN
Phone: + 46 250-381 60    E-Mail:  monopod@mafi.se
Fax:     + 46 250-381 84   Internet: www.mafi.se

MAFI 454

- -


	PD
	Drawing View2

	PD(2)
	Drawing View3
	Detail View B (1 : 2)
	Detail View C (1 : 2)
	Detail View A (1 : 3)
	Detail View E (1 : 3)


